EARAZROREIERT — 2 N—XBISY —F 20145108238 (K) 16EIZHESH

il zcesszazranaasn 8 v SR3K EnCEeere
[AE£] 1% :215000H ~ 2#%:39,000”M  3#%&:16,000 M ~ 43%&:10,000”  5&:0H
B BB mEBR Mk HE BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N KIBAEE :28. -1-1- . — FHERE (BHE)
ilalo|¥5nay 43 Py 1(2_8)9 3-1-1-1 | 40.2 2 (4_612) s
A4 TATv— BV I—-KRLZX HET77— L
TR i 3 | ABBRE 1:29.1 6-5-5-5 |39.4| — 4 441 | EBERERD (BEHE)
] s 540 (1) (o) |EEEX
L:€r/n7oq4 B:NALTI= BINET 7 — L
# 3 | FEME 1:29.1 1-3-3-3 |39.8| — | 6 | 454 |BERS (ZHE)
3155 T74 L —X 54.0 (74%) (-4) HEMK
Rk TA RTRN BT FY— J—YrTr—L
= I\ )L H 3 | SHEKX 1:29.3 9-9-9-8 |37.9| — 7 | 428 |MTEA (BHE)
4111117 56.0 (3/4) (-3) JAfE1E
LN=V754 BR-F21I HEEE
LS f 3 | ALE— 1:29.6 4-4-4-4 | 40.3| — 3 | 461 |®|OFEE (B4HE)
5/glg|vVT>¥>EaZ 54.0 (11/2) @3y | () J PN
RRFAT—IE BTIHAFETIN Fi)ll 7 7 — I
¢ 4t 3 | FHRSE 1:30.0 2-2-2-2 |40.9| — 1 455 |TTTEA (BHE)
6177 ) —F—/x— 54.0 @) (+4) | RFEE (BD)
R:ZY—O—R B:ZXY—%31—b EF=P P A
I AP t 3 | WTHZ 1:30.2 7-7-7-6 | 39.6 | — 5 465 | EEFETE (K1)
/d 3 FIRARAA * £54.0 0 o | @ J P N
L:TVYA XTI K B:I->2T707« A e ]
S5 s FREH : —~6-6- = ROFEE (BHE)
8 NPE% 3 | RR® 1(/3(;)2 5-6-6-7 | 39.9 9 (4+330) A
RiTH AT by h— BIM—CTREIAY N
= # 3 | HBEZ 1:32.4 8-8-8-9 |41.4| — 8 403 EBEA— (BEE)
9 o | T AE-F 56.0 (21 %) ) | B x=2rT7
LA af—5— B:xau7UreR &l —%
® 1 — @B
15l=2F= 5,7,9,8,6,4,3,2,1
23=7F= 9,7,5,8,4,6,3,2,1
T =35r= 9,7,5,8,4,6,3,2,1
41—F— 9,7,5,8,4,3,6,1,2
[ RN
-y 9 470 | | 71 K 4-9 280F | | B = 4-8 740 | | 3EE 4-5-9 5,150
# B 9 160/ 5-9 1,280M B E 4-9 1,450 EE 9-4-5 24,510
4 210H 4-5 720M B H 9-4 2,400M
5 360

ABICOVWTRDTEEERROODE. TR LIV,



